Efficiency vs P,

~ 0.5

o E : :
£ 045 | eererie e ASIREELLIEE fronneeeenes
> E H H
S 04 frrrrrieeee s RREEEEERRE SR EEEREEE
P : :
%0.355— """""""""""" """""" """"""
V| =F ERRRE SRR R R
0,25k |-+ ereiveerereene e e
0.2F |4+ fromen e
0.15F ‘ i
0.05F-1 L}l |T *
% il
% 4_. ...:. .........................
= : : ‘
23 [ lWH """""
- i

=

o
iN

=

10 . Gedf’

— - ] —_Global_mKFIt_baseline
—e— DQM_V0001_R000000001__Global__mkFit_var

—— DQM_V0001_R000000001__Global__mkFit_jcoreNoClean
—— DOM_V0001 _R000000001__Global__mkFit_jcoreSHits

= 05
2 0.45
0.4
£0.35
0.3
0.25
0.2
0.15
0.1
0.05

iclency vs

et

O

Ratio

Efficiency vs ¢

o 05
w
>0.45

0.35
0.3
0.25
0.2
0.15
0.1
0.05]

efficiency
o
D

...........................................

.............................................

-
+

..........................................

= ‘-.!-.'-.'-E'.'.!.'.'.'.'.!.'.'.'.'.!.'.'.'.'.|.'.'.'.'.|.'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'.'

! L .

Ratio




	Contents
	Page 1


